TIncidence  (ond oxioms)

'InJEormole © A point and a lne are incident if “the. point is on the line”
or “the line posses through the point.’

Tn Generaul An incidence Shuchre is o Friple (8, L, T) where § is @
(ﬂonemp+b) Set of “Poin‘rs",,f, s @ (non-e,mpfy) Set of “lines”
and T is o relahon between “paints” and “lines”.

‘Tf Ped and Led | then PT{ . (Pis incident with L") means +hat P

15 oNn

Exumpl%‘

() The Cartesion plane
8= Lixy) Ixyenrs
1 ={3=mx+b pm.h&ﬂ(?t (not both 0)

Uix=clcer?
what is T here’
PT L if the cooridnutes of P Sc»h's{j the equadion  of L.

@ §=11,2,3,4,5,6,33

L= 111,233 14563 JULH, 3 R0, 803,538 93,65 §38 ’il.Z,S,LJ,S,l,,?}}
what is T here’
PT? exoc‘rlj When PE L

(3
§ = ipoints on the Surface of o
SP\/\MI
i‘-g\cjrecdc Circles  on o Sphere §
T is Yinclusion.
ef'n: A m&ﬁmﬁmﬁ i5 oan incidence structure  with the -I:ollouuins

Properﬁes.
(i) Any fwo points are incident with at most one line .
LLL)F\n& tWo lines e incident with ot most one point.

125"
() Evclidean plane js o confiqu rudion.

Y The geomely of 3reui ureles” on . Sphere is not o con}?&urcdion.
(3)
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Def'n: An affine plane is o con{igum%ion 5u+fsfj'mj the {ouowmj
oxom (9.

(AT) AV\FJ Hwo points are intident with o (unige) line.

(AT) [Puﬂ{wr'ﬁ Axiom ] Given o point P and o fine £ with PZ {,
there is o (unique) line Jrhroua\r\ P which does not meet 2 ot
an PoinJc.

We WNeed pne more Gxiom

\\ We don't wont this 4o be w plane.

(ATL) There exist three points which are not ol on the sume  line.

Def'n: A projeckve plone 1S @ confiquradion Such that :
(T) Any  two points are intident with o (Un;‘clue) line.
(L) Any +Wo lnes are incident With @ (unigue) Poin’c_
(Tr) There exist four POINES  Suth that no three are on the Some line
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